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Reviewof sets

Ext common sets in Math
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IN = 50 , 1 , 2 ,3 , 4. 5. --- 3C2
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7 " = SzEX : z positive)
= 9 z4 : z0h

Note : As sets , A B
means

y + A = ye1A = B

Allow = 1 AEB



(b) S = 1 1 ,2 , 3 , 453 = 911 , 25 ,4 ,33

= 9xEI : 12x = 5)

= 9xeIN : 13-x1223

Isl = 5
() T = 91 , 2 , - 5 , E , 35 , 63 /RB

ITI = 6
(d) A = (a ,b)

PA) = G all
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e
set

= 9 Sal
,
Ebb
,
Sa ,b ,

07power

IPLAs) = 2A)

Yetoperations :

diven sets A ,3 can for

new sets :
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(A vs) - A

To
Answer : not in general :

Ea . A = Si
8= 91]

(AuB = 6)
but sometimes true

:

A= 51) B = 52)

troducts :

Ex A = Sachich B = 91 , 21

Axe = S(a, 1) , (a,2)
(h , 1) (4 ,2)
(1) (R)3



(AxB) = (A)x(0)

BYA (3 . 1 - 3 . 4 , 3 - 6)
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Two sets at b3 are disjoint
If Ars = &

F
Ap--An pairwiseare -

disgant
-

If AirAi= fall it;

10% set
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Definition : A partitionof A
is a collection of subsets

At so that veempty

D Ai are pairwise disjoint
② UAi = A

A

Idea i ⑪
Ex3 A = S1 , 2 , 33

Find partitions
Pa
= S1 ,

2 , 33

② A
.

= 51, 23 , As = 933

⑤ A. = S1
.

3? Az = (2)

⑨ A, = 33 , 3) Ay= 513



⑤ A .= 513 , Ay
= 123 , Ag= 93] ,

Ex A=

Ak = SzeA : z = kmod53

Au = 50, 5, 0...

Al = 31 , 6 . 11 , 16 , 21 , 26 . 7)
- 4 ,
-9
,
- 14 --

Az = 32 ,
7.-

As= 53 . 8 , -21-7. -1

Ay = 54 ,9 , 14-11-6 - - 3

Ex5 A = deck of cards

= 58, , 03
,
B3X9A ,2 ,3. It,

Q,k)



As A As A
spades diamond clubs hearts

#6 A= IR

A.= $R
T
= SVER , rL of

Az = IR= [VaIR , wo]

Lot a partition
A ,vAzFI

but

add Ay= So,GActa is partition

EA-RRA P-
Ak = S(yu) : k < x( k+1)
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Not a partication , but

Bi = S(xn) = k=x> kmY

is a partition
Ex A = 1RXIR

Ap = &(x,3) : /=2 ck+ 1

keN
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